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SECTION - A
Analytical Ability
FAE Fogss
Questions : 75 Marks : 75
B3 75 ardp e : 75
(i) Dﬁta Sufficiency ‘ (Marks : 20)
&grod Durghd (3Ep &0 : 20)

Note : In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines :

(a) Mark choice (1) if the statement 1 alone is sufficient to answer the question.
(b) Mark choice (2) if the statement II alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and Il are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

QS 1 Wod 20 DEH 300 (D8 @.J"élé"b) 2.8 [0%), @ (808 L 1T & thhes He
Gold [Wadares SEro%orm angGETow. AWYO S&0F) &OGROD, CRARES
foHSeres (DS Virorard) 3B odh% VorgEres Pt Bar o
Dg"’aow’@. & bgﬂéwé) (ol ‘érgéd,?é orlerw guavriow (1) wod (4)
DEH VO wovd 2arIR JoDE DaHod.

(a) PHD Brervo ad)odd RHHSto | ar@d borghbard d azeey
(1) o ﬁ)goéoc‘i.

(b) %S Vdrerho adyohd [PhSvo 11 hrEgd i:o‘g’g‘é)o.»é‘ oD 2372
2) o H00B0d.

(0 [PHH Vdrerao ad)od® DhHdsres L 11 Sod Dorghay ©othS®
o) 2,88 &ra Doglo STEDE b 2amed (3) me HBoNod.

(d) @HS VorgrRo aBYohd PhHSere L 1T S0 ¥ Qo=gho s°¥
©5YY) Ser0F0 wRVEDAE D 2ared (4) e HBoBOS.
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1.

Is m a divisor of n ?

n & m eradar ?

[.  mis the smallest prime such that 9 m > 8.
m @30 9 m > § ©adgtoG EIY (DR Vowlg.

II. nisan odd integer.

n ¥ B Yrgeo¥o.

Do P, Q and R lie on a circle ?
P, Q. R e 2.8 D)o sodralr ?

L. P. Q lie on the circle and PQ passes through its centre.
P. Q e 2% Hydo soéwe, PQ &R Solo ihoae Fod.

[I. APQR isright-angled.
A PQR wou&eSabo.

If p (x) is a polynomial, is x + 3 a factor of p (x> +2) ?
p (x) 2% 25008 wand p (x> +2) 8 x+3 28 s*¥eroddr ?

It p(-3)=0
. p(l1)=0

If x is an integer, is 9* +9*=b ?

x 3rgrodd 9 + 9 =b eydoa ?

L. I¥L=FE = \/b =

II. x>0

In AABC, if D is the foot of the perpendicular drawn from B onto AC, then what is the
area of AABC ?
AABC &° B 0D AC 8 ADd wow ardo D eand, ey AABC 3%1@50 Qo ?

. BD-AC=20
Il. ZBAD=45°

What is the value of k with 56 <k <66 ?
56 <k < 66 abgty k Deod 28 ?
I.  kleaves remainder | when divided by 2.
kQ 2 & grhosm $3) 3o 1.
II. k+1isdivisible by 8.
k+1Q 8 z=Aod.
3 P.T.O.




p

10.

11.

12.

Isn a prime ?
n 2.8 [DEEPR K)osp‘g 2
I. n leaves remainder | when divided by 6.

nd 6 & grny) vy Fao 1.

[I. nleaves remainder 7 when divided by 91.
n 91 & A DIy Fo 7.

Can we construct the AABC with sides a, b gnd ¢ ?
eberen a, b, ¢ éQIS AABC Q Dagoisﬁoér ?
L. a=3.b=4
[I.  The perimeter of AABC is 18.
AABC vﬁ)éé)) e 18.

What is the average of the numbers a. a,......a;; ?
Ay, dyyeneny 81 © VOO JOS ?

I a, +a,+..+a;=810

L aytayt...+ta,= 900

a2+d2l)
bE_.,CZ >

EDD ot ?

Ifa=b and c #d., what is the value of

a’+d?

azb.czdowe 5
betc=

o
(=%

I atb
i c—d a—b
I[I. adzbc

Can we find the orthocentre of AABC ?
AABC & w02 So|do Eimaienr ?

. AB2=AC2-BC2
[I. AB+BC+CA =100 cms/20.D.

If p(x) is a polynomial, is 2 a root of p(x)=0?

plx) 28 2037008 ©ond p(x) =0 8 2 2% Srudre ?

I. p(l)=2
. p(p(1)=#0

2 2 2
N
X Y Z 2

What is the value of

Xy
RTINS
‘—f’y—’ Desd dod ?

L. x:y=1:2
. y:z=2:3

52RD61
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14. What is the volume of the cylinder ?
‘ér‘b‘ég) DRDRPR0 2o ?
I.  The height of the cylinder is 3 units more than its radius.
‘én“b‘ég) oth oo a’gé"go £08 3 ohrdty JE) .
II. Two identical spheres of radius 3 units fit into the cylinder.
3 afedd agrdo e Bodk VIS Fremen o Drnod® pdydon sanderap.

15. For real numbers a and b, what is the value of 7a + 4b ?
T DVowges a, b & 7a + 4b Jesn o ?

1 ab=0
. a*+b2=0

16. What is the value of sin 26 ?
sin 26 Qeow o ?

I. sec 0 + cosec 6 =4
[I. tanB +cotB=4

}7. For non-zero integers a, b, ¢, d and p, is the product (ap) x (bp)* x (¢p)? x (dp)* a positive
integer ?
am s yrgrostena, b, e, d. p 0 w0 (ap) X (bp)” x (cp)? x (dp)* SERPg=0E™® 7
L. a<ec<p<0
. b<d<p<0

18. For positive integers x and y with xy = 30. what is the value of x + y ?
FoPrgrosTes X, y e xy = 30 &GDE0B, epd x +y VoD o ?
.
I e
y
. x>y
19. I[s the matrix A singular ?
| BE A ergrdaer ?

I. A is a 2 x 2 matrix.

A 28 2 X 2 S| B8,
I[I. The sum of the elements of the matrix A is zero.
Sr|8% A & Sresty SwEo L),
20. What is the number of zeros at the end of the number nn ?
Vowg n DHOE® G0k WS o Vowg 28 ?
1L 28 divides n.
n Q 2% rAod.
II. 53 divides n but 5 does not divide n.
n Q5% e Ayod 572 n J 57 R0,

5 | ; P.T.0.
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(i)

(a)

Note :

Problem Solving
26535‘5 SR

Sequence and Series

SR, Frves

S2RD61
(Marks : §5)
(308 e : 55)

(Marks : 25)
(Srdp e0 : 25)

In each of the questions numbered 21 to 30, a sequence of numbers or letters that

follow a definite pattern is given. Each question has a blank space. This has to be
filled by the correct answer from the four given options to complete the sequence
without breaking the pattern.

(2%)e0 21 @od 30 DD Ko (HB (HHS W 3D Dogges M) vforw M 28

[EagD Jahrd) oo (8 BHEW 78 adyd T od)sv
WOG VO BOWR =T W) SR BR|ED oS Yoo ¥eliHoae roowd.

(3) F

(3) DEF

(3) April 30
RS 30

(3) \1+4/61
(3) 49AB94YZ
(3) 34
(3) A
(3) 76

(3) 13017

(3)

SR
21, IC: Xas LU
(1) B (2) D
22. TSR:IHG::WVU:
(1) FED (2) FDE
23. 1973 : February 28 : : 2016 :
1973 : (2000 28 : : 2016 :
(1) January 31 (2) February 29
23050 31 (50 29
24. \J9+24/14,1]7 +/58.4/5 + 2415./3 +1/62,
(1 3 2) 10
25. 16GH61TS, 25EF52VU, 36CD63XW,
(1) 49ABY94ZY (2) 49BA9Y4YZ
26. 336,210, 120. 60,
(1) 54 (2) 44
27. B,A.D,E,F,LH, 2 5]
(1) o (2) E
28. 14,22, 32, 44, 58, ,92
(1 72 2) 74
29.- 1C5, 7111, ,19U 23
(1) 13L15 (2) 15Q17
23 5 1
W T
8
(D %5 @ 23

BSle

#

4)

4

4)
4)
4)
4
4)

(4)

(4)

H

EFD
December 31

Goob 31

49BA94ZY

24

78

13815
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Note : In questions numbered 31 to 35 pick the odd thing out :
H5RE : 31 D08 35 HBY Ko PFHod® VOB HYow :
31. (1) 53 (2) 71 (3) 89 (4 111
32. (1) Chennai (2) Chandigarh (3) Pune (4) Patna
33) $odad s | aréry
33. (1) (3.7.30) ~ (2) (4,8,24) 3) (5,9, 28) 4) (12,6, 36)
34. (1) 42+4x+8 (2) 4xf+4x+1 (3) FP++l (4) **+4x+4
35. (1) 1N4 (2) 1S9 3) 201 4 2X5
Note : Each of the questions from 36 to 45 follow a definite pattern. Observe the same and
: fill in the blanks with suitable answers.
H2E: 36 Wod 45 DD Ho (DF e 2.8 PRSI Aabar) FrdwTTya. & Qabardy
%00 LoahH Direrare s wrdud Yrootod.
36. 1.3,6,10,15, , 28
(1) 16 (2) 19 (3) 21 (4) 27
] 37. 2,10, 26, 82, ., 730 -
(1) 102 (2) 132 (3) 182 (4) 242
38. BFJ, EIM, HLP, KPS,
‘(1) NVR (2) NRV (3) VRN (4) RVN
1 6
39. 1115 125, 142-7-9 = 2200
- = 3 1462 4 66g
(1) 1567 (2) 1675 (3) 3 (4) 1663
40. 27,48, . 108, 147, 192
(1) 63 2) 72 3) 75 (4) 78
41. (3.4,5),(6,6,6),(10,9.8), (15,13, 11).(21. 18, 15).
(1) (27,.23.19) (2) (27,24,20) (3) (28,23.19) (4) (28.24,20)
42. 00011,00110,01001, 01100, 01111, :
(1) 10110 (2) 10010 (3) 01111 (4) 11111
43. 3,6, 11,20, ,70 :
(1) 28 (2) 32 3) 37 (4) 57
9 28 126 344
SR 3
730 513 1001 1332
(1) 10 (2) 99 G) 1 @ 2
45. 5, 15, 30, 50, . 105
(1 75 (2) 80 (3) 85 (4) 90

P.T.O.
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(b) Data Analysis (Marks : 10)
&gPod dahe ; (Ertop.e0 2 10)

Note : The following table gives the profits (in lakhs of rupees) on four items A, B, C and D
manufactured by a company during the financial years 2010-11 to 2014-15. Using the
table answer the question with numbers 46 to 50.

0% : 2.8 Ko Safrd B Treatd BWYew A, B, C, D o ©88 Joddyores 2010-11
oD 2014-15 HIH VYO wrgren (Uiy ErarabE’) 8ol adyd VYES®
PoDNOT . & DPED DDA [DFHw 46 o) 50 DD Ko (DHUDH =re
Odgod.

Financial Year

995 ‘éo‘(béado

2010—-11| 2011 —12| 2012 -13| 2013 -14| 2014 - 15

Items

DRI
A 375 400 450 425 450
B 525 500 550 575 550
& 225 275 325 350 375
D 475 525 475 550 625

~ 46. On which item the profits are increasing year by year ?
DohdBo $07es VoSS 0 @ SHYP reres WEHEr GIa ?
(1) A (2) B 3) C (4) D

47, Taking the total profit during the financial year 2012-13 of the company what percentage

of profit is earned on the item A ?
2012-13 eaé “)oéégéoo Eownd HAY® Mo ergod® TP A D DS oo

Jo Fa‘é‘én ?
(1) 20% (2) 25% (3) 30% 4) 35%

48. What is the percentage incrcaﬁe of profit on item B during 2012-13 over the previous year ?
D) B P 2012-13 &° HDYS erefo @oéé Wodd VoREYS orefo So8 wHbSY
a‘é&oé ?

(1) 30% (2) 25% (3) 15% 4) 10%

49, Which item has given maximum profit in all the years put together ?

o) NonsyorY orerd” edsdE grare ©oB0DR DY) 6 7
(1 A (2) B (3) C 4 D

50. Which item has the reduced profit compared to previous year twice during the five years ?
&8 0D ‘boééao*gs o DY erfo Todrd) wodd 880 Voaeyd arzfo Sa7)
SEn D 508 ?

(1 A (2) B (3) C (4 D

8
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Note : The families in a colony are categorized into six groups A. B, C, D, E and F based on

51.

52.

53.

54.

55.

the income of the family. Their distribution is as given in the Pie chart below. Use this
to answer Q. Nos. 51 to 55.

K40 . 2.4 s20dSED Sevoere worabo srdom A, B, C, D, E. F o3 e Sawrdteorm

Frdh © Htvoere PFEo 8ol aMWED Y THS ToHROTD. &)
&HArA0D 51 D08 55 DB o (DU 2enda).

What is the pérccntage of E category families in the colony ?
scedd® E 20N0 Htvoere 3280 Jod ?

(1) 36% 2) 25% (3) 20% @) 15%

If there are 108 families in category B. then what is the number of families in category R
B S0A0 Hévoere Lowg 108 wapad F SO0 Hvoere oy Jod ?

(1) 18 (2) 36 (3) 54 (4) 72

If the total number of families in the colony is 720, what is the number of families in
category A ?
s*eS® Do 720 Senozrenod wodhSt A SHND Hiwowre Vowg 8 ?

(1) 120 (2) 108 (3) 96 4) 72

If d and e respectively denote the number of families in the categories D and E; and if
d=ke, thenk =
d. e e BT 8Ades D, E & &° Hevoere Dopgen wér: d =ke s VP

e —
10 | o 7 9
1) (2) 3 3 @) 15

~1|c0

If the category F has 10 families, then the total number of families in the colony is
F 26RO 10 Hévoeres 608 8 SPulS’ o Hinoare Vowg

(1) 360 (2) 240 (3) 200 (4) 80
9 P.T.0.

"
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(c)

56.

57.

58.

59.

60.

52RD61
Coding and Decoding Problems (Marks : 10)
§Goh, GE&oh TRz (B e0 1 10)

Note : In a code the n letter in the English alphabet is coded as the r'" letter of it, where r is

the remainder when 3n + 2 is divided by 26. For example, the 7™ letter G is coded as W
since 3.7 + 2 = 23 and W is the 23" letter; the 8" letter H is coded as Z since 3.8 + 2 = 26
and Z is the 26" letter in the alphabet. The reverse process is used for decoding. Based on
this coding and decoding answer Q. Nos. 56 to 60.

H$RE 1 28 SES® 30t vEBEraS n D wFo) rd vgdon 5% Dt a¥yd
r o3 3n+2 26 B erAoSne HT) Fo. earirded, vESEredt 75 v¥8o G
W 886 T, JochEod 3.7 + 2 = 23 ©HHod, 23 D w¥o W; wdrd 8 D wgbo
H & §°G 0580 Z 6od, 52880 3.8 +2 =26 b0, 26 D ©E80 Z oabo. & 258
85t bos® 88°3oh dad. & §'@oh, &5°Goh Y.;ga DHAIEA0W 56 Wod 60 DX
o [RH oS earendRod.

th

The code word for TELANGANA is
TELANGANA & §°& &0

(1) JQLREWERE (2) JQLEWRERE
(3) JOQLEWERER (4) JQLERWERE

The code word for NAVYSHIP is
NAVYSHIP & §°G &S0

(1) REPYGZCX (2) REPYZGCX
(3) REYPZGXC (4) RPEYZGCX

The number of letters in the alphabet that are coded to themselves is
eE8ared® ) e¥ored §°6 vfto od vYHod ?

(1) 0 @) 1
3) 2 (4) 3

The word coded as XQRKCL is
XQRKCL e §°& Sodaadd Yo

(1) SANTRO i (2) HOCKEY
(3) LAYOUT (4) PENCIL

The word coded as OUMGQ is
OUMGQ > §°& Joddd Hiso

(1) USAGE (2) UNCLE
(3) MONEY (4) MOUSE

10
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61. If GATE is coded as 10042308, then the LURE is coded as
GATE &3 $a°) 10042308 i~ §'G 33 & §'65° LURE & §%G

(1) 15212108 (2) 15241805

' (3) 15242108 (4) 12182105

62. IFGALAXY is coded as PXIXUV. then code word for STAR is

GALAXY & £& PXIXUV ssond STAR, §°6 &0

(1) PQXN (2) PQXM
(3) PQXO 4) PQOX

63. If TABLE is coded as SZAKD, then the code for HOUSEHOLD is
TABLE 9 SZAKD r §& 3% HOUSEHOLD 8 §°G 2o

(1) GNTRDGNKC (2) GOUSEGOLC
(3) GOUSDGKNC (4) GNTSEGNKC

| 64. If COMPUTER is coded as OCPMTURE, then the code for POPULATION is
COMPUTER & &6 %0 OCPMTURE eov@ POPULATION & §°G 3¢50

(1) OPPUAILTON (2) OPUPALITNO
(3) OUPPLATION (4) OPPALUTION

65. If PLACEMENT is coded as MIXZBJBKQ, then the word coded as JLRPB is
PLACEMENT & £& %o MIXZBIBKQ wand JLRPB i~ §°6 eans Do

(1) MONEY (2) MOUSE
(3) METER (4) MOULD
11 P.T.O.




(d)

66.

67.

68.

69.

70.

52RD61

Date, Time & Arrangement Problems (Marks : 10)
80, Labo, whddy Lhidges . (Bt en : 10)

If today is Sunday. what day of the week was it 124 days before ?

& 8% e8RE 124 e 5wodd B 380S° o) arSRhod ?

(1) Monday (2) Tuesday (3) Wednesday (4) Thursday
T80 WohFardo aGardo hdardo

A clock strikes once, twice, thrice, ...., twelve times.at 1, 2, 3,..... 12 O’ clock and once at
every half-an-hour. The number of times it strikes between 3.05 am to 11.55 am. is

a8 faatrdo 1. 2, 3. 12 Hobedypd DEVT 2830, Todrd, ‘ém‘é:é‘;&). s
W oHID Hodesy Fbdr: (e o8obd 2.8 Hob Sdhdod. & faoirdo Gdabdo
3.05 0D &dabo 11.55 H8% A Kobes E&H0d 2

(1) 81 (2) 69 (3) 67 - (4) 63

Four cars A, B, C and D start respectively at 9.30 am, 10.30 am, 2.30 pm and 2.45 pm and
reach their respective destinations at 12.15 pm. 11.45 pm, 9.15 pm and 8.30 pm same day.
The car which travelled for short time is

srentd 5% A. B, C, D e D8O &%ado 9.30 KobeH, adaho 1030 Koded,
DErgimo 2.30 Hobed, DEgio 245 Kobeud wohewdd T8 K FTud
DI ©d & o7(@ 12.15, 11.45, 9.15, 8.30 Hoved Iherw. TES° ©8 S5
[Dotremo TS s

(1) A (2) B @) C 4 D

A is the daughter of B: C is the brother of B, and D is the mother of C. How A is related to
D?

B8 A %50 B8 CWHEH CED . D8 2 Aforr A Vowogonod ?

(1) Maternal Uncle/@o&rd (2) Paternal Uncle/zreran
(3) Granddaughter/Syooores 4) Grandmotllerz't’sé)&é)&

Reaching the venue of the meeting at 8.13, a person R found that he is half-an-hour earlier
than the person Q who came 40 minutes late. The scheduled time of the meeiing is

2.8 Vardd@roeras 8.15 8 Jon 2.8 ©g8 R, 40 Awdres wofgonr VEraTR8 SOy
Q %08 edifod w0 HAYO Hadowed. Lirado (F¥odl Lado

(1) 8.05 (2) 8.10 (3) R8.15 (4) 845
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1<

72.

74.

Three doctors A. B and C have consultation schedule as follows :

(1) A —Tuesday and Thursday — 12.00 noon to 4.00 pm.

(ii) B — Monday, Thursday, Friday — 10.00 am to 2.00 pm.

(iii) C— Monday, Wednesday, Thursday — 9.00 am to 2.00 pm.

The day and the time slot at which all of A, B, C are available is

A, B, C 63 20ihth @58 E0SBS Garen, Sabo Sod gore ™) QY.

(i) A—Doie, iHd acoren — g0 12.00 o) Jrabo(Fo 4.00 D5
(i) B- %, DB, HE roren — sdabo 10.00 o e 0 2.00 DEH
(iii)s C— %D, 2w, 1 arorew — adado 09.00 o gm0 2.00 DEH
S5 awiHdr EOV §‘é{3§‘é¢5§: %0G 5°2°, Voo Jborew
(1) Monday. 12.00 noon to 2.00 pm/&fardo, WEPIM 0 12.00 o ‘éncpvsoﬁlq

2.00 DEH

(2) Monday, 10.00 am to 12.00 noon/&*ardo, &dado 10.00 Dow é)qs"g?’mlo
12.00 5% A

(3) Thursday, 2.00 pm to 4.00 pm/thHar8o, gm0 2.00 Do SraboFo
4.00 D% :

(4) Thursday, 12.00 noon to 2.00 pm/tbdhardo, wergaeyo 12.00 o DGR 0
2.00 HES -

Five persons A, B, C, D and E sit in a row on a bench such that D sits between B and E. If
C and D are not together, the persons sitting on either end of the bench are

2SHHSH BgHen A, B, C, D, E w 580m a8 2y B, E 0 DFes® D oGt
LeEnTm &, C, D en 280 (05 258 S%08 v ay adsye YD) Dees
(1) A.B ) B.C (3) C.A (4) D.E
For real numbers x and y, if xoy = x + v — xv, then the number of distinct real values of x
for which xox = 1 holds is
S Z(Josp?gm x,y 0% xoy =x +y— xy ®od& xox = | @6559)03 Di)‘él EVON] ‘éoa)sw
Xe :’oozgs
(1) 0 @) 1 (3) 2 ) 3
IfELF=(E+F)+(E—F)?and

ETF=(E+F)} - (E-F)’ then

BiHTEal3=
ElF=(E+F)+(E-F?2., ETF=(E+F’—(E-FPowad 3.5T2l3=
(1) 5616 (2) 5876 (3) 5926 (4) 5986
L g 1 ; ptq_
pr=l+2»23+....ooandq-lv3+33+....=>o._then g
+
p=1 %+%+ mq=l+:+%+....ooc-9cm3p—q=

PO
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SECTION-B
Mathematical Ability
Hie3s 3"&%&5
Questions : 75 Marks : 75
(D% s 75 wrdp e 73
(i) Arithmetical Ability (Marks : 35)
woXis g (b8p.e0 1 35)

76. If2x=4Y=28* and xyz = 288. thenx+y+z=
2% = 4y = 82 0oy xyz = 288 oY X Ty +Z=

ay 72 @) 48 3) 36 @) 22
. T T e
77. x3+y-”+z3=o=>-‘——-‘/——z—=
vz
(1 1 (2 2 3 3 4 0
78. a:b=2:S:az—ab+b2:a2+ab+b2=
(1) 17539 (2) 19: 39 (3) 31:39 (4) 18 : 39

79. There are 450 coins, in a bag, of denominations Z 1, 50 p and 25 p. The ratio of their
valuesis 2 : 3 : 4, then the number of 50 p coins is

&, 1, 50 Phen OAb 25 e 450 DB S Ben 28 oSt v T8 dewe DS
2:3:4. oy 50 oY T Be VoS
(1) 100 (2) 200 (3) 150 4) 250

80. [10+2y6 + 2310 +2y/15 =
Q) \2+3+45 @ VZ+\B+\50) BE+e (@) 2+ 3+5

1 ] 2
g, ——— - T— 1 - =
‘\’12—2\f35 ‘\18—2'\/15 10+2\’21.
(1) 23 @) 25 3) 27 4 0

82. The greatest integer having five digits and is divisible by 137 is
esandoen €O, 137 B grAodwd K0 {rgroo

(1) 99873 (2) 99862 (3) 99877 (4) 99973
83. The largest three digit qumber, which when divided by 3 and 8 leave remainders 1 and 3

respectively, is

3.8 &3 rRODSYD HT) T S 1,3 oadgErR) e woSu D% Vowg

(1) 993 (2) 931 (3) 979 4 955
w14
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84.

85.

86.

87.

89.

90.

91.

Traffic lights at 3 junctions A, B and C change every 15, 25 and 30 seconds respectively.
If all the lights change simultaneously at 10 a.m., when will they change together again ?

E) e é.ré#o@ A, B, C & 28 (&8 Sén B0m 08 15, 25, 30 VEVD Jrdheraw.
8) T &. 10 Hove® 2830 &rod o) Ky 23370 Srderap ?

(1) 2 min 30 sec past 10 a.m. (2) 2 min 20 sec past 10 a.m.
&. 1050.2 .30 . t. 10 50. 2 Q. 20 .
(3) S5 min 10 sec past 10 a.m. - (4) 5 min 20 sec past 10 a.m.

&. 10450. 5. 10 . &.1050.52.20.

The ged of two numbers is 23 and their sum is 184. Then the two such numbers among the
following are
Godb vomge Heer 23, ¢ Iwo 184. e e ol Tob Lowgen (808 FES?

(1) 69,112 (2) 46,138 (3) 69,115 (4) 46,124
3
In the decimal representation of 3 the digit in the 25" decimal place is

55 G, B0t DERS* 255 0% FHED w03

3 ) 6 @) 7 4) 4
_-ITH
-Gy T -
3 3 3 ' 3
M 7o @ 37 G —3 @ 710

Ifx= \} 3 +‘\/3 + \/3 + .... , then a true inequality arﬁong the following is
= ‘\/3 +13+43+.... wawdsS (808 &°8S° LoD wiErns

(1) l<x<2 (2) 2<x<25 (3) 2.5<x<3 (4) 3<x<4

The cost price of an article is T 800. Its marked price is ¥ 1,060. If the shopkeeper suffers
a loss of 12% on its sale, then the discount allowed on the article (approximately) is

2d S B8 &8 &r. 800. D PESE Do &r. 1,060, Dsrrardd © S
)BT 12% B 088 & HIYR SRS SN0 QErSHT)

1 1 |
(1) 305% (2) 322% (3) 335% 4) 35%
2 3 2

The present population of a city is 9075 thousands. If the annual increase of population is
10%, then what was the population of the city (in thousands) 2 years ago ?

28 DHWo (DS aTrer 9075 Seo. VORSYTAE 10% Ty ey wHiH&H0s
23008 orw (880 & Voo waryr (Do)
(1) 7800 (2) 7500 (3) 8500 (4) 8200
I 16% of a property is worth ¥ 3.52 lac, then 50% of the property is worth (in lacs of rupees) is
28 eVS® 16% o0 &r. 3.52 vfv Jwde 07 G508, el 50% e desd (w¥u
Erarade®)
(1) 22 (2) 18 (3) 16 (4) 11

5 P.T.O.
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96.
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The cost price of 10 articles is equal to the sale price of 12 of the same articles. Then the
outcome of the transaction is

10 50w 579 8 o 12 SodHu s 0 SFEE Virdo. & Bt HOS0

2 2
(1) 163 % gain/eeefo 2) 163% loss/o%0
2 2
(B) 83% gain/e2jo (4) 83% loss/Rg0

By selling two articles each at ¥ 480, a merchant gets a profit of 20% on one and loss of
20% on the other. In the total transaction the merchant gets a
28 dsreed Sod TyYuD 259 &r. 480 oS wimdo by a8 @I 20%

orgrd) Fodm DE@IR 20% V) FoBD. S WE CTTIS” DT HIS
DB

(1) 4% loss/dg0 (2) no loss no gain/Sgo B wrefo T

3) 5% loss/b‘go (4) 5% gain/eezfo

Two persons A and B started a business investing T 3.5 lacs and % 6.5 lacs each
respectively. After 6 months A has withdrawn from the business while C joined by

investing ¥ 7.5 lacs. The share of A in the year-end profit of ¥ 2.4 lacs is
agd Dges A, B 2538 & I 8r. 3.5, &r. 6.5 i DowdE of T T Y

(2°60900B. 6 Svu SHhard A argardo wod QT . 7.5 ofe Npwds’
C B0, &r. 2.4 o¥v VohEYo~08 o’ A e
(1) 35,000 (2) ¥ 45,000 (3) T 55.000 . (4) < 75.000

A person A starts a business with some capital. After four months B joins with a capital
60% more than that of A. The share of A (in %) in the year-end profit of 7 6,20,000 is

Sod o ipdE 28 05E A 28 argror) (FE0DoTR. 4 Fuw SHhard A £9)
60% XD VEGE wEIE’ B adioni. Vopdyorod erdo &, 6,20,000 oSt
A e (& o)

(1) 3.10,000 (2) 2.70,000 (3) 3.00.000 (4) 3,20,000

Two pipes X and Y can fill an empty tank in 18 min and 24 min respectively. Both the
pipes are opened. After some time X is closed while Y is continued till the tank is filled. If
the tank is filled in 12 minutes, then X is stopped after _

G0t Yo X, Y e 2.8 570 &1 DB 18 D, 24 J. o6° odiiedy. Toth I

B0S. 5‘@'5\3?'.)63 Shard X J prEd Y D argo EE JoB DB 86T &od. &
12 Q. & JodES, X D QodHes SSHare rh3o 2
(1) 6 min/Q. (2) 9 min/Q. (3) 8 min/Q. (4) 10 min/Q.

Taps A and B can fill a tank in 3 hrs. and 4 hrs. respectively. Tap C can empty the full
tank in 6 hrs. If A, B and C are opened simultaneously, then the tank will be filled in
28 GV Tolb vgres A, BRBIT 3 o, 4 fo.od® o). oF Jodim &) G C o

S 6 o g Tabiferd. A, B, € e 28370 803) & othd D Wdabo
(1) 120minD. (2) 140min/D.  (3) 144 min/. (4) 160 min/D.
16
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98.

99.

100.

101.

102.

103.

The speed of the train (in kmph) of 180 m long which crosses a bridge of length 120 m in

15 seconds is
180 &. &Y Ko 2.8 Beo 120 . PEY) e 28 HoBTD 15 VEXS® 8@ & Teo Stfo

(Bo&% 8., oS
(1) 36 (2) 72 (3) 45 (4) 63
A starts from P at 6 a.m. and reaches Q in 4 hours. B starts from Q at 8 a.m. and reaches P

at 10 a.m. At what time A and B meet ?
P 908 &. 6 fobud 20hesdod A 4 Hodd® Q W ITw. Q Wod &. 8 Hobed

20hesB0S B &. 10 fobeH P & TTw. ) Hobed A, B e Seodrdh ?
(1) &.840am. (2) &.830am. (3) .9.00am. (4) ¢&.9.30am.

A can do a piece of work in 12 days and B in 16 days. After working for 4 days with A, B
leaves the work. The number of days required to finish the remaining work by A alone is

2% DA A 12 %S’ B 16 S’ dabifedh. A & 4 Faren DIBFE B DD D60
). A 2:%).G DAOD DA g Dahed D Fere Lowg
(1 2 2) 3 (3) 4 4 5

A, B and C together can complete a piece of work in 30 days. A takes twice as long as B
and C together take to complete the work while B takes twice as long as A and C together
to complete the same work. The number of days C alone needs to complete the work is

A, B, C & Zod 28 DA 30 &arg® o Babifed. B, C w Fod & DI

Fohed OB Ddabo &%) TPody Wnaho A Bbotrd s A, C e 0D o8 B
Lro Sabe® LB Dicho &) BYow) Vvdbo B Sddoird. C 2KaE « DAV ro
Do VB e Joyg

(1) 90 (2) 85 (3) 82 (4) 78

7 :
If the area of a sector in a circle is T7cm2 and if the radius of the circle is 7 cm, then the
sectorial angle is
77

2.8 $)306° Vg Ieugo 3 0.20.2 Do D) sgrgo 7 20.00. BSOS WD

—= o e = @ )
&0
(1) 45° (2) 30° (3) 60° (4) 90°

The perimeter of a rhombus is 40 cm and one of its diagonals is 16 cm. Then the area

(in cm?) of the rhombus is
2.8 V&S El HWEUE 40 0.0 WO @ EgUS” 288 16 0., BYD

e L’obi’:é;d)aa Sego (Ro.2 o
(1) 48 (2) 192 (3) 96 (4) 64

17 P.T.O.
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105.

106.

107.

108.

109.

110.
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A hollow road-roller 63 cm wide with circumference of 440 cm is made up of iron, If its
thickness is 4 cm, then the volume (in cm?) of the metal used is

63 0.ab. Bebeoy EOA, LOY 440 0.5y, 2% &y 8% o atns’ S0°TH0. @
OG0 4 0.00. BN T8 GVEPAODD FWED WEHOETEH0 (Mo} oF)
(1) 97712 (2) 107712 - (3) 107714 (4) 106612

The dimensions of a rectangular solid S are 4 x 9 x k. If the volume of S is the same as the
volume of a cube of side 6, then the value of k is

28 &Y $d0 S ¥y Seoden 4 x 9 x k. 2Hz0 6 e Jo 2. vdo AE) VDO IS
S SPRVOrE0 VTODE, k Dewd

(1) o 2) 12 (3) 18 (4) 36 _

A door is in the shape of rectangle surmounted by a semicircle on its breadth. If the
rectangle dimensions are 10 ft x 7 fi., then the area of the cross-section of the door

(in sq. ft.) is

28 orgfo ab¥) est¥o f AYSHERo IdenyD g0 FPoVIWH)B.
BEBHE0 Fuden 10 wbhibes x 7 wibibes wond o @gdo ‘énspﬁaé S7ogo
(3. . oS

(1) 89 @) 87% 3) 89% 4) 87

A solid cylinder of height 6 cm and base radius 2 cm is melted and cast into a cone of the
same base radius as that of the cylinder. Then thie height of the cone (in cm) is
6 oD, A, 2 o aragrdo Ho af DO rard) $6A0D rdo

a;ﬁva"gé"go‘één VPR a;ﬁva‘g@'go e oY FEIR0. vk © F0d) Jeh)

(0.a0. &%) |

(H 9 (2) 18 3 21 4 24

A cylinder is of height h and base radius r. If t denotes the total surface area and v its
t

volume, then e

2.8 L0700 & h, grargdrdo r. t @ VoRrgse STEE), V DIVODPETR) DY

2|~

202 3.3 1 1
() TR @) T+3 () 3355 (4)

The binary equivalent of the decimal number 245 is
&7°0% W00 Vowg 245  DAFSDS Bg0omrmg WER0S R Vogg
(1) 1110101 (2) 11110101 (3) 11101011 (4) 11110110

The remainder when 1727! is divided by 29 is
172715 29 3 greRosse %y Fho

(1) 11 (2) 10 (3) 12 4) 13

L

o
o | —

18
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(i)

111.

112.

113.

114.

115.

116.

117.

Algebraic and Geometrical Ability (Marks : 30)
Hda0, wgaaédﬁ FRogsd (5% e : 30)

If p. q are statements, then (~ p) V (~ q) is equivalent to
p. q e S0 [é)‘éﬁa"ga (~p)V (~ Q) B HegIHB

(1) p=>-~g¢ (2) ~p=¢ (3) ~p=>-~q 4 p=>gq

If p, q are any two statements. then ~(p V (~p A q)) is equivalent to

P, q 0 Botd [DHVTSS, ~(p V (~p A q)) B HegHD
(1) ~@arq (2) ~pvq (3) (~pA(=q) 4 p—q
If A is the set of all primes not exceeding 20 and B is the set of odd positive integers not

exceeding 20, then (A-B) U (B-A)=
20 ord Porarosty YD A, 20 ool $H Fvogge VDS B ewd,

(A-B)u(B-A)=

(1) {1,9,15,19} (2) {2.9,15} (3) {1.2,9.15} (4 {9,15) |
1+ 3x+ |

If f{x) = log 7— and gv) =7 3,3 then f(g(x)) = H
1+x 3x+x° :

) = log T . 8(0) =T 5,7 @awd: f () =

(1) fx) (2) gx) (3) 3gx) (4) 3f(x)

If a set A has 4 elements, another set B has 7 elements. then the number of injective

mappings from A into B is
2.4 OB A & 4 hrostes, D6 DB B &° 7 drustesod, A 20 B 8 o 0¥

(Patre Dowg
(1) 920 (2) 840 (3) 120 (4) 720

The equation of the line passing through (- 4. 3) and is perpendicular to the line segment
joining the points (1, —3) and (=3, 1) is

Dok (— 4, 3) thoae FEX, (1,-3): (-5, 1) & 02 T 90EA8 woworr $oG O
HESe0

(1) 3x-2y+18=0 @) 3xt2yH18=10
3) 2x—3y+14=0 (4) 2x+3y+8=0

The equation of a line passing through the point (-2, 3) and making intercepts in the ratio

of 2 : 3 on the x and y axes is
Do (2. 3) hoa F&e x. y o 2 : 3 ANBS* woddyorrwy F )

DadESe0

(1) 3x—-2y+12=0 (2) 3x+2y—12=0
() 2x+3y+12=0 (4) 2x=3y—12=0
19 P.T.O.
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3 5 7
118. sin? +sin? "+ sin? X 4 gin2 22

tan 40° + tan 20° -
cot 45° — cot 50° cot 70°

@y 3 2) 3 3)

119.

Ud | —

(4)

-

120. tan A +sinA=p;tan A —sinA=q=p?—g>=
(1) 2(tan’A + sin?A) (2) 2(tan’A - sin?A)
(3) 4 tan®A sin’A (4) 4tan A sin A
121. Observed from the top and foot of a tower 10 metres high the angles of elevation of the

top of a second tower are 30° and 60° respectively. The height of the second tower
(in metres) is
10 &5 b Ko 2.8 Qoo B0, Eoe Wod wrwsd Bodd Roefo 3Go D&

30°, 60° e e Tym 0. Todd Hoafo A (LIS :
(1= 1S @) 175 (3) 20 (4) 225

122. xty=z=> 3 +y3 +3xyz=
(1) 0 (2) —3xyz (3) 33y @4 2z
123. How much is to be added to (x + 2) (x +4) (x + 6) (x + 8) to make it a perfect square ?
(W +2) (r+4) (x +6) (v +8) H Jod SOE wd VOLPY B0 w0 ?
(1) 4 (2) 8 (3) 16 (4) 20
124. f{x) is a polynomial that leaves remainders 6 and 4 respectively when divided by (x — 2)

and (x — 3). The remainder of f(x) when divided by x> — 5x + 6 will be
flx) ©S 2L0HA (x - 2). (v - 3) oF rRODEYD DB Tares DHOT 6, 4. f(x) »

¥-5x+63 PAR 2633 80
(1) 2(x+3) (2) 2(—x-15) (3) 2(=x+5) 4) 2(x+9)

125. 1f2° — 7x* +9x3 + 722 — 10x = (x® — 1)g(x), then one of the values of a such that g(a)=0is
=Tt 03 + 72— 10x= (12— 1)g(x) wawd g(a) =0 ead dSone oG ¥ a deod

@) =5 (2)=S (3) 4 4 -4
10 9 6 15
126. Xty _.\’—y='2;.1‘+y+.\'—y=8ﬁl\.+3y—
5 5 ] 7
() =3 2) 3 G 3 (4) )
Xy _6 xy 8 i |
127. .\'+y_5’y—.\'—6:("' y)=
11 11
(1) (-2,-3) (2) (—3,-3] 3 (E_J 4 @.3)
20
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128.

129.

130.

131.

132.

133.

134.

135.

The sum of the integers between 1 and 200 which are divisible by both 3 and 7 is
I, 200 &g 3, 7 Bodo88 e arhoded Wrgrosty @do

(1) 945 (2) 999 (3) 1327 (4) 1594
The third and the fifth terms of a geometric progression are respectively the second and
the eighth terms of an arithmetic progression whose first term and the common difference

are both equal to 16. The first term of the geometric progression is
2.8 HeEG D 3 B, 5% Dores HHLT &S BiSo, Gn& o Todr 16 m Ko

Go&’ ©o¥[EE 2%, 8% horen. o De(REG weses Heso
(1) 8§ 2) 6 (3) 4 4 2

If15€. BE, €., are in Arithmetic Progression, the possible values of r are

HC,), 1CL HC, w wodEEST Hod Feg Devbes
(1) 4,8 (2) 5.9 (3) 6.10 4) 7.11

=-\N
If the coefficients of x” and +® are equal in the binomial expansion of (3 + %) ,thenn=

X

n
(3 +5) B2 WS 17, x¥ © st VardDard n=
(1) 42 2) 48 3) 55 (4) 58

0 o %
LetA=[B 0 },a;&O,B¢O.IfA-‘+A=O,thenaB=

A=[g g].a;to.B;tOc—s}%)g‘o&.A-‘JrA:O@o»a. off =

1 1
(1 1 @ 3 @) —3 4) -1
sin@® -cosH
— —l —
) [ cos@ sind ] =l
m o @ f(Ee] 0 i(E-0) ) 1)
i Q+.‘.)IU+(2 +.‘.)H)+_m+(5+_\.)lh B
s 100 + x10 3
(1) 0O (2) 1 (3) 3 (4) 5
. [cosx+sinx) dy
y = tan” cosx—sinx) — dx
(1) tan5 @) tanx @) 4) 1

21 P.T.O.
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136.

137.

138.

139.

140.

(1)

S2RD61

If /, and /, are parallel lines, then x =
[ 1y e V&0 S8 Tpean® x =

L
/ |
l

/LJZ\"'

(1) 30 (2) 45 (3) 60 4) 75

In the adjacent diagram ABCD is a quadrilateral; E and F are the foot of the
perpendiculars drawn from B and D on AC. If AC = 8, EC = 3, BC = 5 and area of
ABCD = 20, then DF =

(2%). D&o&® ABCD 2.8 S&HHyzo. E, F eo, B, D & wod AC D ADS vow drarew.
AC=8,EC=3,BC=5, ABCD 3780 = 20, wavs DF =

3) 3

4) 4

() 1 2) 2

P, A, B are three points on a circle and PT is a tangent to the circle. If ZAPB = 45° and
ZTPB = 60°, then ZABP =
a5 Jdow P, A, B w wwrd DodHes. H)ards

ZAPB =45°, /TPB = 60°, ®an@& ZABP =
A

P B¢ ADD 80w PT.

453
603

P T

(3) 75°

(1) 45° (2) 60° (4) 90°

The radius of the circumcircle of the triangle with vertices (0, 0); (4, 4) and (0. 8) is
3g7e0 (0, 0). (4, 4), (0, 8) ™ Ko (Beba LODYE argIgo

(1) A2 @) 22 3) 3

The coordinates of the point on the y-axis which is equidistant from the points (7, 6) and
(-3, 4)is
y-e¥0 &S odwr (7, 6), (-3, 4) & Dod VEED Srdodt ‘é)‘bl DoY) QDS e

(0. 0) (2) (0,-25) (3) (0,-15) 4) (0, 15)
22

“) 4
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(iii) Statistical Ability (Marks : 10)
o eET R &&ggé (=& €0 : 10)

141. The Arithmetic Mean of the following data is
(508 &er073°J8 wo¥ Do

x ) iasise ... 25
Sanl o T e e 25
(1 17 ) 21
(3) 23 4) 27

142. The median of the following frequency distribution is
$08 FRryng Jerr s Elalde 1o

x [ 15[ 17]20)22]| 25| 30
f ] S5 | 10| 127 '8 4
(1) 17 (2) 20
3) 22 ' (4) 25
T 143. In a frequency distribution the Arithmetic mean is 50 and the median is 52. Its mode is
, 2.8 SPRR)Ng eI a0 ©0Eg0 50, g0 52, @ wroFEo
' (1) 51 (2) 53
(3) 54 (4) 56

144. If the Standard Deviation of n observations Xy, Xy,..., X, 18 17, then the Standard Deviation
of 2x, — 15, 2%~ 15, ..., 2x — 15 is

X|s Xpoen Xy O3 1 HOJUDY (£ DSedo 17 wowd 2x, — 15, 2, - 15, ...2x ~ 15 &

(BABeno
(1) 34 (2) 49

3) 54 (4) 59

145. The sum of 5 observations is 25 and the sum of their squares is 145, The standard
deviation of these observations is

5003w Mo 25, o dgre Fdo 145. & VORUDe EDDSedo

(1) 22 @ 2
29 29
@ = (4) \E
23 . ) P.T.O.
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149.

150.
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The rank correlation coefficient of the following data :
1808 Ser07°R8 §° Vv hea¥o

X 3 2 4 7 6 |

v 2 3 56| 35
5 6
() 33 ) 31
.6 s
(3) 35 (4) 49

Out of 100 consecutive positive integers two are chosen at random. The probability that
their sum is odd, is

100 HEBOS'R &% Wrgroste St GoGod) ard)yEon= JwyHame. o°8 Iwgo
B Vowg eadg Voaragd

1 49
(1 3 @) 39
. 5 50
(3) 90 (4) 99
Three vertices out of six vertices of a regular hexagon are chosen at random. The

probability that these vertices form an equilateral triangle is
28 $ad)2E™ e® Bgred® Drdodd afrd)RyEons ) STo. ¢ wrd Rgren

Dbverieo |82be Bgreadoh® Dogrded

——— N e,

1 |
(0 % @ 710
| v 1

@) 15 @ 39

The probability of getting a total of 17 on a throw of 3 dices is
3 VLD FoDNRYD o 17 HT)oh® Dogrengs
17 17
M 376 @) Tos
1 17
3 73 @4 =3

A bag contains 4 Green. 6 Black and 7 White balls. If one ball is drawn from the bag at
random, the probability that it is either a black or a white ball is

28 DoDS* 4 BFH, 6 Ve, 7 By woHeIITOD. & VOW WOk oSPcSQDL)éom 28
208 BVEYH ©b Vud Tar BLd Badg VoTTRgS

42 1

() 359 @ 17

11 13

() 17 @ 17
24
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SECTION-C
Communication Ability

Questions : 50 . Marks : 50
PART -1
Choose the correct meaning of the word given :

151. Humongous

(1) funny (2) enormous

(3) marvellous (4) full of variety
152. Queasy

(1) nauseous (2) funny

(3) trembling (4) disorderly
153. Cogent

(1) agent . -(2) convincing

(3) active (4) co-worker

154. Paramount

(1) ahuge para (2) permanent

(3) supreme (4) mountains described in a para
155. Thwart

(1) convert (2) prevent

(3) pervert (4) thrust
156. Arduous

(1) untidy (2) excess

(3) skilled (4) difficult

Fill in the blank choosing the correct word :

157. The workers were delighted as their pay scales were revised
(1) respectively (2) retrospectively
(3) retrogressively (4) redundantly

158. Due to his corrupt practices, the officer was

(1) promoted (2) demoted
(3) rewarded (4) praised
159. One who is determined to exact full vengeance for wrongs done to him is
(1) virulent (2) usurer
(3) vindictive (4) 1mposter

160. One who does not care for literature or art is .
(1) illiterate (2) primitive

(3) aphilistine (4) abarbarian
25 P.T.O.
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162.

163.

164.

1 165.

166.

167.

168.

169.

170.
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PART -2 ,
Choose the correct answer :

Which was the first commercially available computer ?
(1) ENIAC (2) EDSAC
(3) UNIVAC (4) Mark I

In FDM. every user uses

(1) same frequency band

(2) different frequency bands

(3) a frequency band which is assigned at random
(4) multiple frequency bands

Group of instructions that directs the computer is called

(1) storage (2) memory (3) logic (4) program
An ISP is an :

(1) Internet Service Provider (2) Internet Service Producer

(3) Internet Selection Provider (4) Internet Service Product

The most powerful type of computer is called
(1) amicro computer (2) amini computer
(3) amainframe computer (4) a super computer

The expansion for the abbreviation GDP, an important measure of economy, is
(1) Growth Development Project (2) Growth in Domestic Production
(3) Gross Domestic Product (4) Goods Demand Projection

The market for noble metals like Gold and Silver is called
(1) Bullion Market \ (2) Bullish Market
(3) Stock Market (4) Capital Market

As a result of disciplinary action, when an employee is asked not to come to work pending
enquiry, it is called

(1) termination (2) suspension

(3) leave (4) shut off

An organization’s involvement within the community is called
(1) outreach (2) outrider

(3) interact (4) intervene

The availability of liquid assets to a market or company is called

(1) liquidate - (2) liquidity
(3) liquidize (4) liquid
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175.

171.

172.

173.

174.

176.

177.

PART -3
Choose the correct answer :

A: “He never does a stroke of work in the house.”
B: “Well, may be no one asked him.”

‘B’ implies that ‘A’ is
(1) harsh (2) unfair
(3) angry (4) irritated

Change the following into active voice :
You and he were seen by her.

(I) She saw you and him. (2) She saw both of you.

(3) She had seen you and him. (4) She saw both of them.

If  agree to your proposal, I will be backing the wrong horse.
The underlined phrase means

(1) gambling (2) unfortunate
(3) fortunate (4) prosperous

“Was this the sort of thing you wanted 2”

The tone of the speaker in the above sentence is
(1) accusing (2) rude
(3) polite (4) cheerful

The subject is held over till the next meeting,
The underlined phrase means
(1) postponed (2) dismissed (3) taken care of

A: “Can you explain this theory to me 27

B: “Why ? Are you afraid of failing in the exam again 2"
[n this conversation ‘B’s’ attitude is

(1)  helpful (2) scornful

(3) courteous (4 concemed

A: “Did the resolution get the approval 7

B: "It was called in question by many.”
‘B’ implies that many

(1) approved the contents

(2) doubted the contents

< (3) thought it a model question paper

(4) framed the resolution along with a questionnaire
27

(4)

saved

P.T.O.

e ——— T



178.

179.

180.

181.

182.

183.

184.

185.
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Fill in the blanks with the appropriate phrase/verb/preposition :

They decided to rest the shade of the tree before resuming their walk.
(1) on (2) below

(3) underneath (4) in

They watched the impressive tableau pass

(1) away (2) by

(3) on (4) up
Something shou_ld be done unemployment.

(1) for (2) in

(3) with (4) about
Whom are you for ?

(1) waiting (2) awaiting
(3) waiting on (4) receiving
His body has there under suspicion.

(1) lain ' (2) laid

(3) lied (4) lost

After heavy rains in the catchment areas, a river might
(1) elevate (2) raise

(3) rise (4) grow

several feet.

The vice chairman had to conduct the meeting as the chairman did not

(1) tumnin (2) turnup

(3) turn out (4) turn off

It’s time you to some work.

(1) gotin (2) gotoff

(3) gotdown (4) getup
28
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186.

187.

188.

189.

190.

PART -4
Read the following passage and answer questions 186-190.

There was silence. The rush of water so constant that the sound receded into the
deep recesses of the mind and so faded from the conscious. Birds chirped in different -
octaves. The rain came in a downpour adding to the music of nature. The orchestral
composition was completed as the wind ruffled through trees.

What is remarkable in this sequence is that the sounds were not man-made. The
comforting murmurs of nature lulled the mind into deep meditation. Then I opened my
eyes. The mountain of Machchu Pichchu was behind me. Wyna Picchu was to my side,
and Puttucursi right in front shaped like Mt. Kailash. Of course there was no snow. A long
fold of mountain was like Ganesha’s trunk. The sacred river Urubamba sped along in its
long journey — embracing the mountain at the foot, following its contour, then on around
Wyna Picchu, racing to join the Amazon river — tumbling down 8000 feet, saddling South
America and then merging with the Atlantic Ocean on the East coast.

Cusco was the heart of the Inca empire. It retains its pristine charm inspite of a |
stream of tourists. The tiled roof tops, narrow streets and little balconies dotting the I
buildings add to the charm. We stayed at the Monesteria Hotel, which is an original old
Spanish Monastery. The feeling of belonging to a bygone era continued even as we left
the hotel and stepped into the small square where colourfully dressed Inca woman awaited
us with a child and a Ilama to be photographed.

T

Which mountain specifically referred to by the author did not have snow ?
(I) Mt Kailash (2) Puttucursi (3) Machchu Pichchu(4) Wyna Picchu

Which river is described as sacred in the passage ?
(1) Amazon (2) Ganga (3) Missisipi (4) Urubamba
Which four sounds constituted Nature’s orchestra according to the passage ?

(1) Roar of Atlantic, snow fall at mountain, sound of waterfall and chanting at monastery.

(2) Wind through mountain, flight of birds, water stream and falling of leaves.

(3) River crashing at mountain foot, confluence of river into ocean, rustling of dress and
clicking of camera.

(4) The sound of water, chirping of birds, rains and the wind ruffling through trees.

What does the expression. ‘it retains its pristine charm’ mean ?
(1) It retains its entertainment value.

(2) Tt retains its beautiful charm.

(3) It retains its unspoiled old charm.

(4) It retains its modern charm.

What does the expression, ‘Birds chirped in different octave’ mean ?
(1)  Birds voices pierced the silence of the valley.

(2) Birds voices could be heard at various frequencies.

(3) Birds veices sounded like cacophony.

(4) Birds tweeted to each other aimlessly.
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193.

194.

195.
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Read the following passage and answer questions 191-195 :

My childhood was, on the whole, happy and straight forward, and I felt affection for
most of the grown-ups with whom I was brought in contact. I remember a very definite
change when I reached what in modern child psychology is called the ‘latency period’. At
this stage, I began to enjoy using slang, pretending to have no feelings, and being
generally ‘manly’. [ began to despise my people, chiefly because of their extreme horror
of slang and their absurd notion that it was dangerous to climb trees. So many things were
forbidden to me that I acquired the habit of deceit in which I persisted upto the age of
twenty one. It became second nature t6 me to think that whatever 1 was doing had better
be kept to myself and [ have never quite overcome the impulse to concealment which was
thus generated. I still have an impulse to hide what I am reading when anybody came into
the room, and to hold my tongue generally as to where I have been, and what | have done.
It is only by a certain effort of will that I have overcome the impulse, which was generated
by the years during which I had to find my way among a set of foolish prohibitions.

The years of adolescence were to me very lonely and very unhappy. Both in the life
of the emotions and in the life of the intellect. I was obliged to preserve an impenetrable
secrecy towards my people. My interests were divided between sex, religion and
mathematics.

What did the author acquire in his adolescence ? '
(1) Good habits (2) The bad habit of drinking
(3) The habit of deceiving people (4) The bad habit of smoking

From where is the expression ‘Latency period’ borrowed ?
(1) Adult psychology

(2) Child psychology

(3) Educational psychology

(4) Abnormal psychology

How did the author acquire the ‘habit of deceit’ ?

(1) People hated him.

(2) Because he was not permitted to do many things which he wanted to do.
(3) He was lonely.

(4) No one sympathized with him.

How was the author during the period of adolescence ?
(1) Lonely but not unhappy.

(2) Lonely and unhappy.

(3) Unhappy but by no means lonely.

(4) Very friendly and very open.

Where did the author maintain secrecy ?

(1) In emotional but not intellectual life.

(2) Inintellectual but not emotional life.

(3) In emotional and intellectual life.

(4) Neither in intellectual nor in emotional life.
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| 196.

197.

198.

199.

200.

Read the following passage and answer questions 196-200.

- When you first arrive in a new culture, there is a period of confusion that comes

from the new situation and from lack of information. It leaves you quite dependent and in

need of help in the form of information and advice. The second state begins as you start to®
interact with the new culture. It is called the stage of small victories. Each new encounter
with the culture is fraught with peril. It is preceded by anxiety and information collection
and rehearsal. Then the event occurs and you return home either triumphant or defeated.
When successful, the feelings are very much as though a major victory has been won. A
heightened roller coaster effect is particularly characteristic of this stage. Once some of
the fundamentals of life are mastered, there is time to explore the new culture. This is the
honeymoon stage of wonder and infatuation. In it there is heightened appreciation for the
new, the different, the aesthetic. Depending on the degree of cultural immersion and
exploration, it may continue for a considerable period of time.

After a while, a self correction takes place. No honeymoon can last forever. Why in
the world would anyone do it that way ? Can’t these people get their act together ? Now
the deficits seem glaringly apparent. Finally, if you are lucky enough to chart a course
through these stages and not get stuck, there is a rebalance of reality. There is the capacity
to understand and enjoy the new culture without ignoring these features that are less
desirable.

When does one acquire the capacity to understand and enjoy new culture ? .
(1) When one is willing to accept the new culture uncritically.

(2) When one goes through various stages of assimilation.

(3) When one is infatuated with the new culture.

(4) When one gives up old culture.

How many stages of adaptation are described before moving on to the new culture
finally ?
(1) Four (2) Three (3) Two (4) Five

When does one go through a critical questioning phase before moving on to the new
culture ?

(1) At the honeymoon stage (2) At the initial stage

(3) At the final stage (4) At the second stage

Which stage of cultural adoption is comparable to a roller coaster ride ?
(1) When you interact with the new culture,

(2) While experiencing the honeymoon stage of the new culture.

(3) While being critical of the new culture.

(4) When you first arrive in a new culture.

At which stage of one’s entry into the new culture, is one likely to feel quite dependent ?
(1) At the stage of interaction with the new culture.

(2) At the initial stage.

(3) Atno stage.

(4) At all stages.
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